
Name:               _

Atomic Symbols

      45

                         Sc
                     21

# of p+ =      

# of n= =      

 # of e- =       

      24

                         Mg
                     12

# of p+ =      

# of n= =      

 # of e- =       

      39

                         K 
                     19

# of p+ =      

# of n= =      

 # of e- =       

     238

                         U 
                     92

# of p+ =      

# of n= =      

 # of e- =       

     197

                         Au
                     79

# of p+ =      

# of n= =      

 # of e- =       

      56

                         Fe
                     26

# of p+ =      

# of n= =      

 # of e- =       

      35

                         Cl
                     17

# of p+ =      

# of n= =      

 # of e- =       

      80

                                Br
                     35

# of p+ =      

# of n= =      

 # of e- =       



        

                           
                       

# of p+ =   33 

# of n= =   42 

 # of e- =   33  

        

                           
                       

# of p+ =   47 

# of n= =   62 

 # of e- =   47  

        

                            
                       

# of p+ =   11 

# of n= =   12 

 # of e- =   11  

        

                            
                       

# of p+ =   82 

# of n= =  125 

 # of e- =   82  

        

                           
                       

# of p+ =   78 

# of n= =  117 

 # of e- =   78  

        

                           
                       

# of p+ =   29 

# of n= =   34 

 # of e- =   29  

        

                           
                       

# of p+ =   24 

# of n= =   28 

 # of e- =   24  

        

                           
                       

# of p+ =   53 

# of n= =   74 

 # of e- =   53  


